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1]

[319] -

ofRrer o @vsl 4 & — 5. This guestion booklet is divided

into two sections — Bection-4

In Section-A, there are
70 ohfective type questions, out
of which any 35 questions are
to be answered. [ more than-.
35 questions are answered, then

" only first 35 will be evaluated.

Each question carmes 1 mark
Darken the circle with blue /
black ball pen cgainst the
correct option on OMR Answer
Sheet provided to you. Do not
use whitener / liguid / blads /
nail etc. on OMR Answer Sheet,
otherwise the result will be
{nvalid.

. In Section - B, there are 20 short

answer type questions, each
carrying 2 marks, out of which
any 10 gquestions are to
be answered. Apart from these,
there are 6 long answer
type questions, each carrying
8 marks, out of which any
3 questions are to be answered.

. Use of any electronic appliances is

strictly prohibited.
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m | [319]
WUE - ¥ / BECTION - A |
TR 79T / Objective Type Questions
W HE 1 @ 70 T % wAw wv & Ry un free feg e &, R
RTE A tmﬁmqﬁmuﬁﬁmuﬁomnvﬁzwﬁ&aﬁ |
srw 35 Wy & T 33 § 1 of whendt 35 ¥ Afw wwt & AT
t, At wuw 35 I w G et 1 35 x 1 =35
Question Nos. 1 to 70 have four options, oul of which only one is
correct. You have to mark your selected ap!:’c.-ns on the
OMR .sheet Only - 35 questions are to be answered. U the candidate
answers more than 35 questtons the first 35 answers will be
evaluated. _ 35x ] =35

mt{iﬁmﬁmmmﬂwﬁt?'
(A) T < (B) T
©) fEm ) (D) fem

Sujni is the ncedle craft of which state ?

(A Punjab ' ~ (B)  Gujarat
(C) Bihar | (D) Odisha
Frft T R
(ny saf ) fidmw
\9/ CEibe ) ¥ A w7
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[ | | (319]

Purpleis a ................. colour.
(A) Primary "~ (B) Sccondary
(C) Tertiary (D) None of these

3. w%mﬁmm?ﬁgﬂmm?ﬁfﬁ?ﬂ_t‘?

y@ @ W
© ff D) g

Quality of which resource is not degraded due to pollution ?

(A) Sun (B] Water

(C) Soil | D) _Ait
4, w8 W gon @ R R e 7

(A) vl ' (B) FH

ﬂsfuﬁn' (D)  afim o
A ' .

What is the natural method of drying clothes ?

(A) Ironing - (B) " Drier
(C) Sunand air (D) Washing machine
5. %@ Wd W% & §IY F TN §1 =Mk
(A) TR{H A( TG @ T
(C) wHERTH ‘D) e faamEm I
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[319]
The clothes for the time of sorrow and mourning should be
(A) Dark coloured (B) - White and light
(C) Bright coloured (D) Specially &c_signed
6. frome & forg Wi Reder afl & 7
") @ R
gy T (D) - WZa f
Who is not responsible for adulteration ?
(A) Producer ~ (B) Distributor
(C)  Consumer .{ﬁ} Retailer
7. mﬁﬂ'ﬁhwmm“‘ﬁ_ﬁmmt ?
() I )/ e
© M= D) wHAmh
Which form of water is used in home ?
(A} -Solid ‘ (B) Liqut'd-
(C) - Gas -~ (D) All of these
5. % vwyw A ¢ v w0 freh 8 7
A s W R (B) ﬁ'—!—ﬁﬂﬁiﬁq |
(C} TR I A wh .
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10,

What information do we get from the b

(A)  Account holder's details

(B) Description of transactions
(C) Account balance

(D) All of these

A i -m At e e R 7
) | 9w S

Which of the following is a mcans ofinvestment ?

(A) Bank N (B) Post Office
(C] ll.ifc Insurance | (D) -All of thesc
e Raftr 2 i 7 |

(A)

(C) \/Fﬁ%mh

What is made by baking method ?

(A) Pastry (B) Cake

' (C) Bread " (D) Al of thesc

[319)
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11, TR % v ) g v ¥ R R e g 7
Mﬂ (B) A :
(C) W T (D) v & =
What should be done to sécure the future of a family ?
(A)  Savings (B) Expenditure
(C) Prepare budget (D) None of. these

12. ﬁnﬁﬂmﬁmﬂﬁmqﬂé?

(A) TEEA (B)

(C) ®=n (1

Which of the following is.nqt a greasc stain ?
(A) Butter I (B) Oil

(C) Vegetable curry -[Dl Colour

13 ﬁﬂiﬁm—éﬁﬁmtmﬁﬁﬂﬁiﬁaﬁﬁt?
) Yoo 1R Wﬁ
c) witgm ufy (D) wmmE ufd

Which of the following glands controls other glandé of the body ?

(A) Parathyroid gland {B] Pituitary gland
(C) Adrenal gland (D} Thymus gland
[24/A/X11-5029-138/40) ' Page 7 / 32
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H| [319)
14. "R @@t 7
M’ﬂ (B) wm
© W (D) wiawed
What is the basic unit of fabric?
(A)” Fibre B Thread
() Yam (D) None of these
15, 0 e W # v amw &
(a) Wm ® WU
(€) ufw T \/ SQL
... i8 found in greefillcafy vcgclmmcs._
(A) Protein (B) Sugar
(C) Mineral salts . (D) Glucose
16.  Wewr g miad! st s At % e o ¥y wen 6 ok

U S e 2 L

() n?l-w:_ﬂf?a D) e

................ has been cstablished by the government to protect the

health of pregnant women and children. bsebresult.in

(A) Sf:hool '(B} Mother-child welfare cen'trc

(C) Co-operative (D) Industrial centre

24/A/X11-5029-3a/40)
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H | (319

17. P ¥ X vl e ot & 2 firg @ S - 4 7

(A)  *=w ™
B) mH® @
(C) f'm‘srrlm{ﬁm

l nﬂémﬂ

Which of the following is the care for & baby during first few days ?
(A) Keeping the baby warm

(B) Care for the uml-:ilical cord

(C) Providing only breast milk

(D) All of these

18. w& NuA ﬁmmw?ﬂt
37 d @ emd

() 8wWEH (D) 10TTR ¥

Babies begin to recognize their mother in

(A) 3 months (B) 6 months
(C) 8 months ' (D) 10 months
[24/A/XI1-5029438140) | Page 9 / 32
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19. ﬂoﬁoﬁu dmTquE w7
(o fewfifen, @, Rew  (B) W weRe-ghA
(€©) WA, RAw, Rwiifar (o) i @ ot
What is the full form of DPT vaccine ?
(A) Diphtheria, Pertusis, Tetanus
(B) Bacille Calmette-Guerin
(C) Guerin, Tetanus, Diphtheria
(D} All of these
20. WiHtg fax i P @ 2 FAR
(A) 3 w@l, 1958 \/%9 mﬂ 1956°
(C) 20%H, 1960 (b| 16 fiyaa, 1954
When was the Life Insurance Corporation of India established ?

‘(A)  3rd February, 1958 (B). 19th February, 1956

(C) 20th March, 1960 (D) 16th September, 1954
21. ﬁmﬂﬂmmmmmmt 1
(A) & FT | (B): W Wi fafy
€ < dm shfvaw Frafy Im
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(319 ]
Which of the I'ullcm;ring is not a tax saving investment ?
(A}  Home Loan
(B) General Provident Fund
() Lifcl Instirance Premium
(D) Fixed deposit
22. PfadaWmmimafig?
(A W - - (B)
© o e \/ e
‘Which of the fi;llowirig is not 4 warm coIqur ?
(A) Red ' | (B) Purple
(C)] OQrange (D) -Yeﬁow
23 F%m@a - T
W it (B) TFTYE st
(©) sty w»/mm
The endocrine gland located above the kiﬁﬁcy 18
(A| Pituitarygland  ~ (B) Thyroid gland
(C) Adrenal gland | D) Pnncrtal;
% 24/A/X11-5029-34/40 Page 11 / 32
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H | | [319]
24. B= i R W Tt view w po W & 7
(A)  wifm I (B) Tem AAHI0
(€) P (D) 374 ] wft
Which of the M[llowing s the main reason of consumer
cxploitation ? |
(A)  Limited information  (B) Wrong information
(C) Miteracy (D)  All of these
25, WAtMaRadwA Rmbadwts
A 3w \)A &
C) 127 (D). -1 T |
What is the validity period.of a cheque from the date of issuing ?
[A]- ' 3 months , {B) 6 months
(C) 12 months | (D) .1 month
26. A=A ¥ wHa A qee evea T R 7
(A) WHHA . (B)
(€ ) AR
Which of the following is not a basic human need ?
{A) House (B) Food
(C} Clothes (D) Entertainment
24/A/ X11-5029-2 /40 Page 12 / 32
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27. ITAH & fog woww = wed yafew o R
(AL it Tmew S B) W) A W=
(C) mﬁatfhw;rﬁahq'saﬁl (D) ®AM I T

The most popular slogan of the government for consumer

awarencss is

(A) 'Jago Grahak Jago®

(B) “Dhokhadhadi se bacho”

(C) "Apne adhikaron ko pahchano”

(D] "Sajag upavokta Bano” | ,

. 28, mmaﬂtmﬂmﬁnm aReR R 7

w/ dufrw | (B) WITA
c o= (D) s

What type of right is “Right to [nformation® ?

(A} Legal (B) Traditional
(C) Optional "~ (D) Religious
29, W7 T Jan 4 B
ararfi= (B) W&
(€ ¥ N .
[24/A/X11-5029-(38/401| Page 13 / 32
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H | ' [319]

vssessineene. I8 the best source of vegetable protein.
(A) Soyabean (B) Rice

(C) Mustard (D) Groundnut

\/mtﬁtitmﬂ (B) T gftE=w |
Wi 3 e

(C) ftean gfE # (D)
Dietary fibre helps in
. (A)  Prevention of constipation
(B) Blood circulation
(C) Increasing immunity
(D) Al of thisk | |
31, e & afenl 8 eam: R e w0 R w0 B A L 7
(A) FTIER

(B) §HI
['Cl fererfer \/ ot

Which nutrient is mainly deficient in women during pregnancy ?

(A) lodine (B) Fat
(C) Vitamin (D) Iron
24 /A [ XI[-5029-133;409 Page 14 / 32
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El
32. W 9l @ Sen wum w0 6 wihn W vl
(A) - wheyor @) frem
©l | () fefiwm
The process of removing watcr from food is called
(A)  Preservation (B} Disinfection
(C) Dehydration - (D) Freezing
as. =5 9w B d |
Ay TR B) TuEA
©) R Va/ w2 i
Clean water is
(A) Colourl;aa (B) Odourless -
(C) Germ free . (D) Al }:.r these
sa. fd s @ oA 0 s A Pk w7
(A]  FEY @ RRf
(c) HmER Tl e \)W/ Vi A of
Water requirement of a person dcpcn&a'on '
(A) Climate (B)  Activity
() Dim& habits (D) Allof these
[24/A/XI11-5029-(a8/409 Page 15 / 32
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35.  vEeh WA ¥ Re Preafrfen 3§ Q R Ry w1 298 R € 7

Mﬁm (B) e

(C) Jwemn (D} S

Which of the following methods is used to make idli ?

(A} Steaming (B) Frying
(C) . Boiling (D) Roasting
36. aiu:mﬂﬁ&lﬂﬁmﬂmﬂm#:am ?
(A) TTRH ) A
C) = | (D) TR w7
What is the secretion from.an endocrine gland called ?
{A) Enzyme (B) Hormone
(C) Water (D) None of these
37, geu e fom T @ |
(a) =gl (B) I T@H
() TR & AR (D) & A B

Male scrotum is located

(A) in thoracic cavily

(B) in abdominal cavity

(C) outside the nbdominal cavity

(D) none of these

24/A/XI1-5029-138/40) Page 16 / 32
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38. ol & Pt ) i wal B R 2

(A) \/mm
o) R -

C) AW

Where does the process of fertilization take place in females ?

{A) Uterus (B) Fallopian tube
(C) Ovary (D) Vagina
39. - 1Y, afe il wfm wh R 7
() ST - (B) o
€ TRt D) ERIAATH
Which gland secretes growth hormone ?
(A) Thyroid (B) Adrenal
(C) Pituitary (D) Hypomaiamu;

40. wWrad WAV 1 W Ha
(ay/ rcifir srfire (B) IveTia W
() dra i (D) A W@ Y EH
The main source of river pollution in India is
(A) Industrial waste '
(B) Untreated sewage
(C) Solid waste

(D) Human and animal bath

24 /A ] X11-5029-38/40) Page 17 / 32
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4], WEA T AT MM e v e € ¢

(Al S (8) e

(g g (D) W W™

Discases related to the respiratory system are caused by
(A)  Noise pollution ' (B) Land pollution

(C)  Air pollution (D) " Water pollution

42. QAT M wA A P-mdn e 2 7 o

(AT, TR, fftrm |
(B) WudE, TX4 I, rkyRw
() R, e, difeafas
(O) wH A+ T,
Which disease s’prca.ds through open dcfca_:atjon ?
(A} Diarrhoca, Typhoid, Jaundice

(B) Diabetes, Heart discase, Atthri;is
(C) Hacmorrhoid.'Guitm. Cntarncl:l
(D) None of these

43. P dAvRImadgl 7

Mﬁl (B) TR

(€) - q¢ (D) Wi
24/A/X11-5029-130/40)
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Which of the following is an animal fibre ?

(A)  Silk (B) Cotton

(C) Jute (D) Coir
44, AR Tl ) qQ IO H R R AR R ot |
A) fomm ®) & T

M"ﬂ, o)

The process of converting waste materials into new products is

called
(A) Design (B) Pattern
(C)  Recycling _ (D)= Knitung

o5, Pred @ P afven A onarem T R 7

o T D) wh =

Who o
(A} Doctor (B) College teacher
(C) Nurse (D) School children
6. wafes wa 78 B I L
@) wHA G 3
(C) =@ W (o) e 3

Page 19 / 32
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47.

48.

(319]

Interior decoration is not donc at

(A) Home (B) Shop

(C) Pubic place (D) Office

7@ 7 A § A R werok wr /@ 9 e 2
A/ @ ® ™
© R - o) wawi

Which of the. following types of water should be used to wash

woolen clothes ?

(A) Cold | (B) -:Hot

(€ Lukewarm (D)  All of these

e T e ol 3 R s R it e ) v A
b7

(A) sSooFE B) 700 Had

(©) 900 ¥ \/ 1000 ¥}

How many additional calories is needed per day for breast feeding

mother ?
(A) SO0 calorics (B) 700 calories
(C) 900 calorics (D) 1000 calories

by:BSEBResult.In
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49. WH-T yAhEW fag @ 3wl & R @t 7 |

W TR B g g
M‘“‘“’* (D) THTETERT

Which certification miark is not for food product ?
(A} FPO (B) Brown.and Greendot
(C)] Hallmark . (D) FSSAI

50. ﬁqﬁam rqfteror 1 ITE@ R 7
(A) TE W A @R T
(B) WTH! W Wl AT FATH TN
(C) TTET W TR A,

\)p/ﬂﬁ ¥ oft

Which of the following is an example of adulteration ?
(A)  Sclling fake as real
() Selling stalc food as fresh .
(C) Selling with wrong label
(D) Al of these

) wamafrs ot  TE (arifERae) F3 A HE sEA TR 7
A S TR 4 (B) A £IGA A
c) oA \}1/3Tt A #

24/ A/ XI1-5029-138/404 Page 21 / 32
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Where should the biodegradable waste be put generally ?

(A) Redbin  .(B) Black bin
(C) )’g]lnw bin - (D) Green bin
S2. FEidvm-mindyne R wh AN o

(A) W _ (B) wh¥d %
[}/ W © wAWh
Which of the fo!lawing diseases is caused by iron deficiency ?
(A)  Night hlindnlelfa ' (B) Beriberi
(C) Anaemia (D) Al of these

53. ﬁn‘iﬁm-mﬁmmwﬁt?
(A) R 1 S B) W F wem wen

Whiéh of the following is a function of fnod.?
(A)  Nutrition of the body |

(B) Providing encrgy to the body

(C)  Protecting the body from discaseg

(D) Al of these

24/A/X11-5029 31,40
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54. WA AT & yiwm w e e wn o

(A) g4 =1 v (B) @i

() &0 H iy Jp/nﬁﬂmﬂ

Which of the [ollowing is a natural way ol purilying polluted

environment ?
(A} Sunlight (B) Rain
(C) Wind speed (D)  All of these

55. THFAWMER NI TR MR 7

Mmﬂﬁ (B) W&

(C) s (D) O, Fa

How does bank give interest on savings account ?

(A) Quarterly (ﬁ) Monthly

(C) VYearly (D) Half-yearly
s, PoRiaa 3 @ ¥R-W 0 YRS snw it 7

( | B)

c W | (D)

Which of the following is not a natural fibre ?

(A) Tcryl;nc (B) Jute

(C) Silk _ (D) Wool

. 24 { A/ XI[-5029-(ans40) Page 23 / 32
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'H | 1319
57. v % w@ew wrenat w s @ g 7

A R (B) g

C wEmEd w/ Wit a af

What is the reason for health problems in India 7

(A) Grovnng population  (B) Pollution *

(C). Infectious discase "u:u All of thege
s6. oW feak R gPwRE R 7

(A) e o ®

C) e - VAE: ;i

Water pollution is harmful for |

(A) Aquatic creatures (B) Hﬁman

(C) Agriculture | (D)  All of these

THoftoaile (PPO) W& ardt @My 'ﬂ:r'”

(A) | E L (B) Seht

(C) W | up/!ﬁ A ;i

.................. is & FPO marked food item.

(A)  Jam (B Jelly

(C). Pickle’ " (D) Al of these

24/A/X11-5029-t38140, -Page 24 / 32
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60. T ¥ A ¥ ow gearteres s 7 & 7
(A) tnﬁgr;gz (B)

() ffm Mﬁm

Which of the following is a protective nutrient ?

(A)  Carbohydrate (B) Fat

(C) Vitamin (D)  All of these
61. WA = watew @ R |

pp i, Teeh o i () wfwrmt

(C) = (D) AR wh

cereesneeniens 1S the best source of protein.

(A) Meat,"Fish and Egg (B) Vegetables

.(C) . Rice (D). All of these
62. = 4@ ¥ fews wrd & w9 7 3w g o § 2
(A) firow ' B) A=

(C) 7% ' Wﬁmﬂ‘

Which of the following is used as a preservative ?

(A) Vinegar | | (B) Oil
(C) Salt ) (D)  All of these
24/A/XI1-5029-j387401 | - Page 25 / 32
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63. P A ¥ wirw w1 o e} 7

A) IR m B) fy o

(G (A) 3 (B) i (D) v
Which of the lollowing is a type of malnutrition ?
(A)  Undemutrition (B) Ovcmptrir.ion
(C) Both (A) and (B) (D) None of these |

64. PEddsh v ERgmamam @it ? |
(A) T & M st gean
FHrrerefy Swt €
(€ Fwifrfy & 2w anfls e
(D) U w9 I H gy F W TE™™
Whichl of the following is not an advantage of saving for future ?
(A)  Protection during old age -
(B) Fulfilment of emergency needs
(C}  Economic protection during retirement

“p

(D)  Assistance after the death of bread winner
65. Frmfafaa 3 4 @ vivom % wrem g s 4 2

(A) ¥R | \/ TN

© (D) &

24/A [ X11-5029-(33,40) Page 26 / 32
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H | | (319]

Which of the following helps in digestion of food ?

(A)  Hormone (B) Digestive juice
(C) Water a | (D) Blood
66.. WAl = Pmfn Qe
g o Rwd
() WeeufH (D) g &
Sperms are formed in | .
" (A) - Testes (B)  Penis
(C) Prostate gland (D). “Epididymis

67. ™iiva F FER A B R
(A) A B wE uw/awasmﬁm
(c) TEE R W@ (D) mﬂm:_
What is the ah;apc of the uterus like ?

(A) Pecar shapced . (B) Bean seed shaped
f

(C) Coconut shaped (D) Almond shaped

68,y @ 9 @R 9x ik ETeTeh F e Rya R |

Mw{y;ﬂh (B) = iy

(C) mrrss'iﬁf _ (D) 7 ufy

24/A/X11-5029.(30/40
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70.

[319)
Which of the following is located between the larynx and the
windpipe ? bsebresult.in

(A)  Pituitary gland  (B) Adrenal gland

(C} Thyroid gla;:d | (D} Sex gland

- 69. W& WA § Imem wew R v Rt gk 7

(A) W B) wfem

€ e | ( e afaE

Which method of food preservation i's used in making sauce ?
- {A) _ Heat : : (B) Refrigeration

(C) Dchydration | (D) _.Chemical preservation

T A L

(A) TR % JIETER HA ¥
(B) W+ @ ¥y
(©) amfae i ¥

Mﬂam

Clothing is essential for

(A) Providing cover for the body
(B) Keeping the body warm

(C) . Social prestige

(D)  All of these

24/A/X11-5029- 1337409 Page 28 / 32
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oy WG W¥T / Bhort Answer Type Questions
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10 x 2 =20

Question Nos. 1 1o 20 are Short Answer Type Questions. Answer
any 10 questions. Each question carries 2 marks. Answer your

by:BSEBResult.In

questions in about 40 to 50 words each. 10x2=20
frfetea gt dlra feuon fafed :
‘Wnite short notes on the following :
1. W 2
Insulin.
2. TgIgm 2
Home industry.
3. g fyea 2
‘Food poisoning.
4. Uiftarfs W@ -
Family income.
5. WS )
Casual work.
6. 9o WY 2
Water pollution.
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7. W A Ew 2
Quality of clothes.

8. wruftvem ‘
Primary colour,

9. EHE 2
Breast feeding.

10. i firm
Adult cduéatiun.

11. @ F Fd 2
Functions of fat.

12.  wieqEaen & W -2
Childhood dise:c.nscs.

13. @5 2
Hygicne.

14.  yHETA 2ENTE A 2
Period of postnatal care.

15. FUH 2
Detergent.
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16. @ TEm 9
Mincral salts.

17. wfta 2
Polluted water.

18. 3T&HuT 2
Post office.

19. g 9
Fibres.

20. «dd 2
Savings.

. Long Answer Type Questions

uyR e 21 ® 26 44 I A § 1y Wi ¥ weiw w & fo
s 3w fraifa & 1 feet 3 WAl & I I 3 wvEl F I AW
TV 80 W 100 TRT X T | _ 3x5=18
Queszion' Nos. 2] to 26 are Long Answer Type Questions. Each
question carries 5 marks. Answer any 3 questions. Answer your
questions in about 80 to 100 words each, 3x5=15

21 qzmqa‘mammgmﬁwﬁmil 5
Give a comparative description of hame declivery and hospital
delivery.
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. What do you understand by food adulteration ? Explain.

. 23.

24,

25.

26.

e & gt 5 R i ok o

Describe the different uses of clothes in the kitchen.
wh.an WOEw /w01 o 7 avig &)

What is the bencefit of food pmscrvi;tion ? éxplain.
& YOH & TE mm !

Explain the impurtancc of Home mnnagcmcnt..

arg wgwor ¥} 7 TR g fur w vk

What is air pollution ? Describe the diseases caused by it.

———— -
- fAer A gdfda maft veratd,
BT GA, U85 U7, , zfde
AfABIs sRae A6 s gad
IS uTa & f3e...
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